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45.	� When the International Pogo Stick League was  
formed, 28 players showed up to join the league.  
The players were divided evenly into 7 teams.  
How many players were put on each team?

28 ÷ 7 = ______
______ players were put on each team.
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46.	� When the Buffalo Buffaloes played their first basketball game against  
the Texas Toasts, 72 fans came to watch. There were 8 rows in the 
bleachers, and the ushers made sure each row had an equal number  
of fans. How many fans were in each row?

72 ÷ 8 = ______
There were ______ fans in each row.
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47.	� Bitzy and Bopsy, the Banana twins, set up a business cleaning hairbrushes. 
They made $82 on the first day of work. They split the money evenly.  
How much money did each twin get?

82 ÷ 2 = ______
Each twin got $ ______.
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48.	� Spaceman Zorgo from Planet Bingo used  
his rocket backpack to fly 95 miles in 5 hours.  
He flew at the same rate of speed the entire  
trip to see his Grandma Bleep. How many miles  
did Zorgo fly each hour?

95 ÷ 5 = ______
Zorgo flew ______ miles each hour.




